) €M)

ooa

a(d o) (rad)

Ratio

0.95Li

L.VOJ[,

£
=
——

=,
o

=l
o B

10 1T 23

a0 d ) (cm)

1#ﬁ%w##ﬂﬁ%###H%%ﬂ%

—3 1 2

—=— DQM_original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

mllne)

..........................................................................

T 0 1 2 3
TP ® (PCA to beamline)

ol pT/p )

. 107t

1##### +*+++#H+*++++++++++ﬁ

—2 —1 0 1 2 3

TP ® (PCA to beamline)



	Contents
	Page 1


